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1. Two chefs were having a discussion about bacon and one of them stated that he believed that 75% of the people
in the United States like Bacon. The other chef said that it had fo be higher than that. She decided fo test the
claim and randomly selected 44 people from different restaurants and discovered that 38 of the 44 people said
they like Bacon. Is this enougf2vidence to support her claim? (Conduct and appropriate hy{’rhesis test)
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1. We would like to deterppine if the typical amount spent per customer for dinner at a new restaurant
in fown is more Thart$20.0§. Asample of 36 customers over a three-week period were randomly

selected and the meanamount spentwas $23:60. The standard deviation of the sample was found to
be $2.50. Conduct and appropriate hypothesis test to see if the fypical amount spent per customer is

more than $20.00? I - ¥ = 235.60 §= 250
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